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= 1 REPLY
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Miharika Jha 16 hours ags
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Homework answer: option &

iy &P REPLY -
» 1 REPLY

PUJA KUNDU o ———— 17 howrs ago
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f GF  REPLY -

» 1 REPLY

Poonam Bhatia 7 hours 2o

Thank you sir for this wonderful session
iy GF REFLY -

= 1 REPLY

Rajat Sahu 5 hours ago (editad]
Homework answer is -option A
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Q. In the following questions !, @, #, $ and % are used with the following meaning as

illustrated below.

“A!'B means
“A@B means
“A#B means
“ASB means
“A%B means

A is not less than B.” ~~

——?

A is not greater than B.” <

A is neither greater than nor smaller to B.” —

A is neither smaller than nor equal to B.” ™=

A is neither greater than nor equal than B.” <

el feq T =T H 5 e |, @, #, $ 3R Y SN fohT 71T & Seeh 31ef fmfcrfaa &
P1Q HT3A T P,Q° U BT =l

‘P@ Q31 g ‘P,Q’ U ST = =l

P#Q HIATR ‘P,Q HIBITJAXTE ISR

‘P$Q HTAL R ‘P,Q” VT BIT I T & I =

‘P% Q’ HT AL R ‘P,Q” U T ST 3TN T & I 2



\ Q. Which of the following expression leads to N$Q being definitely true
and no relation between M and P ?

eTfetiiad | | I |1 st N$Q o f2rd &9 & ¥ 814 %l 3R of S

%ﬁ.oh_ond SIS Tt Tl 27
d%/'M%N$O#P'R#Q

(2)M'N$O#P'R#Q x
(3)M@N @O'P#R#Q K
(4)M'N#O'P'R#Q ¢
(5) None of these.

>




Study the following series of alpha/numeric/ symbol combination and answer the
questions that follow.

ZA34AVO@D#49PNH#SESS*CFABT7TH%9Y6£0Q2RQ
\J | ) J (i_/—' B
Four of the following five are alike in a certain way on the basis of their positions

in the above arrangement and so form a group. Which is the one that does not

belong to that group?

SURITh STTEAT | 37U UST oh TR W (AT Rad Uiel § o IR Uk {2 aiich ¥ T
S g 3T 3EeTU Uoh HHE ST 8| T i< AT g Sl 3@ T § Haferd el 82

(1) #9P (2) CAB %68 (4) P48 (5)E 5 *



@ Study the following series of alpha/numeric/ symbol combination and answer the

questions that follow.

ZA34VO@D#49PN#8E$5*CFAB7H%@Y6£Q2RQ

_\

Which of the following is seventh to the right of fifteenth from the

right end? \'S — 7 =
frferfam & & 1 21fe TR & uged & A T W E?

(1) D 9)/{ (3) % (4) * (5) None of these

L-L IR
R-R Ry



Study the following series of alpha/numeric/ symbol combination and answer the questions that
follow.

o
ZA34VO@D#49PN#8ESSHEFABTH% 9Y[6£Q2RQ
N D C

How many such symbols are there in the above arrangement, each of

which is immediately followed by a consonant and also immediately

preceded by a number?

Fuih e H U8 foran weftes &, Rt & wedeh & qid a1e Uek S6 grar
& 3TN T Ugel Ueh |t i giat 82

(1) None (2)One (3) Two (4) Three (5) More than three




Study the following series of alpha/numeric/ symbol combination and answer the questions that
follow.

ZA34VO@D#49PN#8ESS5*CFAB7TH%I9Y6£Q2RQ

(] o o o

If all the symbols are dropped from the above arrangement which of the following

will be tenth from the left end?

Ife Tt Ucfiehl ol IUNH SATEAT | geT fear wrar g af FafeRga e g s s o
TadT BIT?
MH# )C AB) % W (5) None of these




Study the following series of alpha/numeric/ symbol combination and answer the questions that
follow.

ZA34VO@D#49PN#8E[$S5*CFABTH(% 9Y6£Q2RQ

3757/ A

How many numbers are there in the above arrangement each of which is

immediately preceded by symbol and followed by a letter of English
alphabet?

SR ST i fRheft Tt ¥ Rt & Seireh 3 ot weer St S e
TS ST TUTHTAT o Teh TSR BATE 2

(1) None (2) One j}ﬁ wo (4) Three (5) Other than these options



® v
Statements:C<LZK<HSF<S>X

Conclusions: 1. K < S /

II. F> X ><

(1) If only conclusion I is true.

(2) If only conclusion II is true.
(3) If either conclusion I or II is true.
(4) If neither conclusion I nor II is true.

(5) If both conclusion I and II are true.



Statements:Z>G<J2V=X<C2A

Conclusions: 1. C > A X >

C = A . A
I.C=A X Q@%

(1) If only conclusion 1 is true.
(2) If only conclusion II is true.
(3) If either conclusion I or 11 is true.

(4) If neither conclusion I nor Il is true.

(5) If both conclusion I and II are true.



ET
Statements : K2 L2H<D=C<S<R>J

_ /

Conclusions :I. D<R

II. K>H )<

(1) If only conclusion 1 is true.

(2) If only conclusion II is true.

(3) If either conclusion I or 11 is true.
(4) If neither conclusion I nor II is true.

(5) If both conclusion I and II are true.



Statements : A SK<TZ2L<UZ2J>Y

U J

ConclusionseINZEE X S/
CA
Ut X >/

(1) If only conclusion 1 is true.

(2) If only conclusion II is true.

(3) If either conclusion I or I1 is true.
(4) If neither conclusion I nor II is true.

(5) If both conclusion I and 1I are true.



Q.1-2. Study the given information carefully and answer the
following questions. Point Q is 16m north of point W. Point A is

10m west of point K. Point S is Sm west of point W. Point K is 9 m
north of Point P. Point S is 25m south of point A..

& T THHRT T LTS h T i AR HHTTRId TT o I
A Tg Q, Mg WHImH 16 HixHr g m i fag A, Mg K % 10
nﬁaq‘r“&wﬁ&w%‘lﬁms %Ewﬁsnﬁaqf&nﬁ%lﬁaK %IT:'P
aawﬁawﬁf%%%lféas %EA%zsnﬁaaFwﬁ%l



Q.1-2. Study the given

information carefully

and answer the following

questions. Point Q is 16m

north of point W. Point

A is 10m west of point K.

Point S is 5Sm west of
point W. Point K is 9 m
north of Pointz. Point S

/

is 25m south of point A..




Q.1. What is the direction of Point K with respect to Point S?
faig S o wefer o foig K 1 favm s 22
(1)East (2) South (3) North-?t'@) South-east (5) North-west

Q.2. If point T is west of point P and north of point S, then what

is the distance between T and A?

e faig T foig P o ufgm i fig S ok ITAE, A1 T AR A h after
T g T 22

(1)16m. (2) 25m. (3) 10m. (4 ﬁm (5) Sm.



In a certain code language, SQUARE is coded as WSUCPY then how will

CIRCLE be coded is the same code language?

ueh ffya i v, SQUARE st WSUCPY & &4 # shifed foraT T 8,
it CIRCLE =t &% shifed foram ST @8/ shig 91T 22

7 17 21 Nz 1% s

(1) FKEFEA QUARE
(2} TEKJEA <>K
WoOC Py
B)TKECIA " 25 011 3 o
WD TFKEEATF +2 T/

(5) None of the above

2 49 13 2 12 s

C T RC L&

TKEC,UH

D

\-‘K —



How many pairs of letters are there in the word
“REFERENCES”, each of which has as many letters between

them in the word (in both forward and backward direction) as
they have between them in the English alphabet?

| as? SK/'ID

o ) L2
1! 545 195 M35 19 ) ) i )
yre2 “REFERENCES" # fopaa 2 ¥, s & ues o 918

(3T 3T Ui AT feromren ®) o ofter o Rraw arem 8, 37k aft=r
IS AVHTATH 32

(1) None (2) Two (3) One (4) Four (5) Three



There are six poles i.e. J, K, L, M, N and O of different lengths. Pole
O is longer than pole M. Pole K is longer than pole O. Pole K is
shorter than only pole N. Pole J is longer than pole O. Pole M is not
the shortest pole. The length of 2nd longest pole is 62cm and 3rd

shortest pole is 35cm.

HETT-ITET AT o B g9 AT J, K, L, M, N and O §l 95 O g i
d dlﬁWW%IWKWEﬁWﬁEHT%IWKW aBer?r
@a%lanaaoaﬁawﬁa%w%laaMwmaaqﬁ
%’lg\@mﬁaﬁqﬁﬂ o1 e 62 eft e A T B e

SaTE 35 9T R




There are six poles i.e. J, K, L, M, N and O of ditfferent lengths. Pole
O is longer than pole M. Pole K is longer than pole O. Pole K is

shorter than only pole N. Pole J is longer than pole O. Pole M is not

the shortest pole. The length of 2nd longest pole is 62cm and 3rd

shortest pole is 35cm.

N>K>T >0>mMm > L

G &)

—s



Q.1 Which of the following is 2nd shortest pole?
freferlaa & & @t a1 go aad sier ga 22

(DK 2)0O (3)L (4) Can’t be determined @j( ??ne of these

Q.2. What may be the possible length of J?
J <hT ST TS ST BT Achdl 22

(1) 67545{ (2) 580m/3)3 cm  (4) /‘%fcm (5) gﬁ



Statements:

All Drink are Water. / O UF I 2

Only a few Water are Hot./ Wg@'@‘ﬁﬁﬂﬁ%l
No Hot is a Cold. / g 79 &€ &1 2

All Cold are Ice./ O 38 9% 2|
Conclusions: I @
(I) All Drink being Hot is a possibility. / mﬁj&rﬂ'r&/%@swm% |

(II) Some Water are not Hot. /EWWTI'&H@‘%/
(IIT) All Water being Hot is a possibility./ T QT T B i EHTAT B

(1) Only I follows (2) Both I and II follow. (3) Only III follows
(4) Only II follows. (5) None of these



Statements: N
Some G are R./ K33 G, R%I ml

Only a few R are P. /%lo_olﬁgﬂ‘ R, P Bl

Al R are B./ @t R, B ¥l

Conclusions:

I. Some G are definitely not R. / & G}:—R/F%W U Y R & &
IL. Some B are definitely R. / %% B i3 ®q %I

(1) If only conclusion I follows.

(2) If only conclusion II follows.

(3) If either conclusion I or II follows.
(4) If neither conclusion I nor II follows.
(5) If both conclusions I and II follow



Statements:
All A are B./ @Y A, B 3l
Al B are C. /At B C (> Qa

SomeCareD./i@‘C%D
A G e D

Se—°
Conclusions: %Se«a mot A Gmretle D v

I. Only few A are not D is a possibility. / et %o A € D & & teh Hurar e
IL. Some C are A is a possibility ., &S C ,A § §HEAT §

(1) If only conclusion I follows.

(2) If only conclusion II follows.

(3) If either conclusion I or II follows.
(4) If neither conclusion I nor II follows.
(5) If both conclusions I and II follow



Statements :
Some squares are circles. EWHTI‘W%I

No circles is a triangle. aﬁéaﬁmﬁaﬁmqﬁ‘r%l
No line is a squares. Th1g &1 T &l 2| < T
Conclusions :
I. No triangle is a squares. ﬁéﬁgﬁaﬁﬂ‘é‘r%l >(
I1. No line is a circles. . TIg {&T ThA TG &l X
I11. All squares% triangle. T it SRt T&ﬁ"&ﬁ‘my
IV. Some line are circles. e T Hehe 2| X
f

(1) Only I follows
(2) Only II follows
(3) Only I and III follow

(4) Only III and either II or LY follow

(5) None of these



7 People A, B, C, D, E, F and G are sitting around a circular table. In

which 3 people are facing outside and 4 of them facing inside the

circle. Only three people sits between A and G who is facing outside.

D sits immediate left
direction. F is not an

same direction. G sit

of G and B. The neighbour of E facing same
immediate neighbour of E but both are facing
s third to the left of E. D is not facing outside.

7AW A, B, C, D, E, F 31T G Uk MATHR ¢ oh IRT TR 96 3l [-ow
3 GIT STE ohT ATHAT oY T8 & ST 390 o 4 B o 37eT T ATHET T & B

A 3R G o =T S

A1 T 434 2 ST STed SRl ATHAT R T 21 D, G

31X B o dcehTel AT0 93T 81 E & USIET @1 {391 o/t ara-1 S @I 2 F,
E AT AcehTel USIET Tl & cifeh ST Ueh &f [T h1 ATHAT I ® 81 G, E
% ST & e TATT TR 21 D 18X T |THAT 81 T &1 B




7 People A, B, C, D, E, F and G are

sitting around a circular table. In

which 3/pe0ple are facing eutside P

and 4 of them facing inside the

_/—\

circle. Only three people sits between
A and G who is facing outside. D sits
immediate left of G and B. The

neighbour of E facing same

direction. F is not an immediate
neighbour of E but both are facing T A
same direction. G sits third to the Y
left of E. D is not facing outside.

e




Q.1 In which direction A and E are facing?
A 3R E form feom o aroar s @ 82

(1) Inside (2) Outside (3) Cannot be determine (ﬁla/()ne

inside and another outside (5) None of these

Q.2. In the clockwise direction from B, how many people are
sitting between B and G?
g2t hY fovr & B 9, B 3R G o o=t fopas T a3 82
(1) Ong (2) Two (3) Five (4) None (5) None of these



Nine persons A, Q, B, S, C, U, V, D and X. They live on a separate floor each of a nine

floor building but not necessarily in the same order. The ground floor is numbered 1, the
first floor is numbered 2 and so on until the topmost floor is numbered nine. D lives on
an odd-numbered floor below floor number 5. There are two persons living between D
and X. S lives on one of the odd numbered floors but not on floor number 7. There are
two people sitting between V and B. U lives on floor number 6. Q lives on the top-most
floor. V lives on an even numbered floor. B lives below V. C lives just above D’s floor .
TR A, Q, B, S, C, U, V, D and X. | ¥ Ueh 3T HIWTeT U Ueh A1 HISTeA <hl AR H &d 2
IR ST T2 foh Ueh &1 ShW W | et shl HGAT 1 8, Tge 1 HiNTST <hl €&AT 2 § 3R 3
TE I qoh AW HUL HISTeT hl T&AT AT T8 2l D, 91 W&AT 5 W el Teh foaud 6863t aret
T UR 1&g 81 D 3R X o ot &1 4tk &d 81 S forww wean areft wivret # o v m e 2,
eifera wirer wEaT 7 v 7 v iR B % Sfier ® Y st ed §1 U Wit a7 6 WEgar 21 Q
aH FUH WA OR AT Bl V Uk OH E&AT STeit Hister W @aT 2l B, VA fR war el C, D
&% T I ek ST L&l B



Nine persons A, Q, B, S, C, U, V, D and X. They live on a
separate floor each of a nine floor building but not
necessarily in the same order. The ground floor is numbered

1, the first floor is numbered 2 and so on until the topmost

floor is numbered nine. D lives on an odd-

numbered floor below floor number

S. There are two persons living

) —

between D and X. S lives on one of the
odd numbered floors but not on floor
number 7. There are two people
sitting between V and B. U lives on
floor number 6. Q lives on the top-
most floor. V lives on an even
numbered floor. B lives below V. C

lives just above D’s floor




Q.1.. Who among the following lives on floor number 7?
mCc )V (3&/ (4) Can’t be determined (5) Mese

Q.2. Who is sitting on floor number@
(1y 2)D 3)X (4)V (5) None of these



There are more than ten people sitting Q'Eﬁa:{ﬁ‘ 10 & 37fereh 4iwh S & |
in a circle. Each of the seats occupied ek T I Ueh A<k JoT 8 [34H &

by one person. Each of them is facing ng@aﬁaﬁ AR KLE

inside the circle. AT T WX S3T | B,E @raﬁ{@rﬁr
K is sitting third to L. B is sitting WASTZ | E and M & HeH & A T<h A
second to E. There are two people S | LJ and A T AT ﬁwq:cﬁﬁ

sitting in between E and M. L is an ¥, TIlch B @raﬁ{wmqﬁéa% | D
immediate neighbour of both J and A, and C,B U ShUTT: E‘:\'HB{E[WWﬁ‘
but not sitting second to B. D and C are a%‘%j N,M ﬁgﬁwmaﬁr%
sitting second and third to B ,ﬁﬁﬂ CHOTMEAT WAL 2 | M, A
respectively. N is sitting second to M, a;aéaﬁ-{ﬁ%ﬁ{wmméa% | E,J

but not seated to C. M is sitting third to T HFrE¥TAT W ISTE |
the right of A. E is sitting third to J.



There are more than ten people sitting

in a circle. Each of the seats occupied
by one person. Each of them is facing

inside the circle.

K is sitting third to L. B is sitting

second to E. There are two people oAM= (Roaser+ il
o er 7 (1 ( Bt

sitting in between E and M. I is an

immediate neighbour of both J and A, G.30 Pm < Hind oy mwE
but not sitting second to B. D and C are <
s

sitting second and third to B
respectively. N is sitting second to M,
but not seated to C. M is sitting third to
the right of A. E is sitting third to J.



